= IEWIRBINR EER T = m 20%

Tt e 5 <<1EEHH”EEH§?%/£>> B2 - WL IR SRR U] - 45
IF_T EE'M EA *Et{ﬁﬁﬁf'mtﬁ fEE R R o R FAR AR
ik 20 T_E B RRAE 10%52E = 5] 20% - PR=&K ] > B 1 ot b
REEy > ZEBEX-

%uﬁi'ﬁfés%m%zw}\?ﬁ”ﬁaﬂ)? > Ml R R TR AR AR a5 T PR R K 2 BLRE
B THEgSREBERKIABIESE  RIXFILEGEZX

TEBRERMERN  BHEEXEZERMERE 2.0 (WERIE - E38E BE
gg%%ﬂ TR EE MR - B PR B AR UGE R R IR o SR IR

7 [B] FE R R oK 0 BH/NBIRA LR A A B ~ RIS B A LN 5E
PR S EE IR BT LA ER - IEAREZHENEE -

T 8 S REI B T 0 b RIS RIS R AR REE  ER

R DU By T 0 RBYFCAE o B A9 R S S R U  E P T LA R K

PUEE RS N T 8 REGEIE AR 5 R
o F 47

R E B2 & B AR T BUSOR IRV R &5t 218 [&5T > Il L B4 1Y EA
FE IS BT HE - ERLIANES — P& BT AT /Y 330 8T -

Ry RIER IRV > 2SRRI > FEE AR 5 - AR &R 8 I FR R
17 10% > &= F 5 s 20% > WPk 10% ~ 15% 5 20% — &kl -

BEMASRBRIIE S BEFHE (RERRE - IREE) 1 Eixhl
i 20%;5 5,000 E TPl B2 1 BeE fE 15%; 0~5,000 & T &R

FEEFHEA 1 Bl EE Ralings  FEABEH 102 % B1L1E%
P2 s i HT ] 20% -

8 BT SRR P A I B EESHAE 5,000 &t DL B R 20% ;5 2,500 & T
DL EZE 5,000 BT 0 % 15% 5 0~2,500 B T ERE 10% -

J:
10%

g B FEHAE 5,000 HITLL B2 BRBAEHIT 10%52 & E 20% - 2Bk
7N

ﬁ’\ﬁéﬁ s oy > HATEERE 1,200 ot > MEEFE 220 HoT > (h4ERr

K



